Stat 300
Spring 2024
Exam 1, February 21

N books, scratch paper, phones.

Calculator and formula sheet (3 double-sxded pages) allowed.
Please show all your work and clearly mark vour answers.

If a problem is too hard, move on to an easier one,

Problem| Pts [Possible

1 25
2 25

3 25

4-6 13
7-8 12
Total 100

Name (printed): Ke ‘ﬂ/
v

Name (signature):

Score for the
class so far: out of points

Percent: % Approx letter grade:



1) A community college administrator studies the relationship between units taken
by students and hours per week worked. See data

SOT heei™> (25 pts)
) W > 17 ]

3 20

5 45

8 38

9 22

11 10

12 30

13 0

13 8

14 35

15 11

16 0

y 1 i L
a) In the space provided, make a scatterplot. LF 3= M & % 1o |z

Use the indicated scale.

b) Find the equation of best-fit line. Use units
for x. Plot the line on your scatterplot above.

9= -2,058x +42.2
¢) Find the correlation coefficient r. Describe what your value of r means.
r= =055 nf’yfr‘w mude et Correlation

d} Use the linear model to predict the expected number of hours worked by a
student taking 10 units. Show work please. No work, no credit.

‘5\: —20.53 +L|2.2,=@,6 hours,

e) Fill in: For every additional unit taken, the average number of hours worked

goes Gowns by 2058 bhours . [Note: first blank should be "up” or "down.”

f) Which variable is the response variable?
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2) The average amount of time to fill out the FAFSA is approximately normally

distributed with mean 48.3 minutes, and standard deviation 11.6 minutes.
(25 points)
a) What percent of people take more than 60 minutes to fill out the FAFSA?

z2=lol  AfL-= $4.38%

L : Cale: 1566 9o

a) What percent of people take less than 55 minutes to fill out the FAFSA?

2= 0.5%
ATL=|71:50 % Celc: 7, ?7/“7.3

a) What percent of people take between 30 and 40 minutes to fill out the FAFSA?

¥33¢ #3250 17.57%

= <59 R T 7 | -
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d) Your BFF takes 25 minutes. What percentile is this?

&= 201
ATL= 2. %%

Galet 223 %,

¢) What is the 35th percentile for FAFSA time? Round to the nearest tenth.

2=- 075 7 19 clemest
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3) The following are the hours of sleep by a sample of CRC students on the night of
February 20.

(25 points)
594 418 823 620 547 796 371 350 509 691
405 693 559 639 624 478 690 729 621 854
623 261 857 593 860 579 408 563

a) Find the mean and standard deviation amount of sleep.
? : S-l 78 ),v‘/f ‘>
C) b '/ 6 l \’\U“ >

b) Find the 5-number summary for amount of sleep. Write the S numbers and make
a box-plot. Draw it to scale.
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¢) Make a histogram for hours of sleep. Use classes of equal width starting with
2.50-2.99, 3.00-3.49, 3.50-3.99, 4.00-4.49, etc. Make sure all the classes fit on this

page.
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Problem 3, continued

d) Find the z-score for the largest and smallest amount of sleep. Is either number an
outlier, by the z-score definition of outlier?

26.Y § F 2T [ s c—'b’y\-'e.(’
6 -=ZF=6% no

e) Describe the shape of the distribution. Justify your answer using evidence from
parts (a)-(d).

Cendr| ?e,,_,k & — L
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f) What fraction of students have an amount of sleep within one standard deviation
of the mean?

Y%7 4o /.57

(7 _
o5 = 61%




1) The average weight of Jack Russell Terriers is 13.8 pounds, with a standard

deviation of 2.1 pounds. The average weight of Golden Retrievers is 68.0 pounds,

with a standard deviation of 11.2 pounds. Which dogis relatively larger compared

to its breed, a 16-pound Jack Russell Terrier, or a 75-pound Golden Retriever?
i rar numerically.

(5 pts)
78 ~puird £

€ = 0615

5) Make a pie chart for the following data for favorite flavor of Starburst.

«§ (4 pts)
Cherry 59 o s
Orange 28 15% Bl
Strawberry 31 2%
Watermelon 4 ~T
o 2"70 ?S o
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6) Find the 85th percentile of the numbers in this so
(4 pts)

13 17 19 22 22 28 3 38 40 44

47 58 61 64 72 83 102 133 142




7) You gather information for all of the counties in California. There are 58 counties
in California, |SYK. (8 pts)

a) One variable for this data set is percent of registered voters in each county who
are independent. Is this variable discrete or continuous? Justify.

CWrb""wﬁ, _ﬂe p'.fcenf' e ‘76 any. PEC gl num‘-’)’(.

b) Another variable for this data set is number of cities in each county. Is this
variable discrete or continuous? Justify.

&:_SICFPJ(, wLﬂle /val?e"."') l//!l?,

c} 1s the 58 (see above) a variable? If yes, what kind. If no, what is it?

No [4' ‘S ")Vté’ Pa‘?u{cf"')?f\ 9. 1€

d) You find that the average land area of each county is 2600 square miles. Is this
number a variable? If yes, what kind. [f no, what is it?

Jﬂ”'f’ 3 ‘ﬂ,( ‘90?9(0,)?"1 /}*PM’ G Pmﬂqmg}(/—‘

8) There are 8,300 people at a concert at the Golden One Center, You survey 20 of
these music fans and find that 15 of them have seen the band in-person previously.
How many of the 8,300 people have seen the band in-person previously?

(4 pts)
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